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SIN(PSBLD:

Beuaileimdhmenmerd uTLl  uglyser uppw uflgmisHseiear @ GOWLTSS e  LmHID
alensasmall ufl fe@ G Crradsy, GmMiurs wl L | @nsmer sauaiad @G0 UTLSHHL L G0
2 afen  QUEHLUINILD FHeL UGHBmenuld o2 6Tl esdHwsTas SWUTHeslUl (heTangl. L6
QTHHHHe0, GuEbUTeTET UFLFTiSHB6MNE QFweTHmINd HHUHEBTIOTS AMLIDHS(HbHSHIL 66T
gemerGuwimy BT el wefbsds HeumulhboHery.

ufl gajsenmed Qaflalldsiiu’ L el wkissT 1Neareumorm :

ugil A
aleorr @ev. 01Introduction:

As the entire question paper covered almost all the area of Business Environment specified to the level
-1, the aim was to check candidates’ overall knowledge and understanding of the subject area. As a
whole most of the candidates’ performance were satisfactory while others were failed to answer well.

Following are the facts put forwarded by the examiners:

SECTION A
Question No. 01

Qubumeomenr  UTLUUTUYSeT @BHL  UGSHuled 2 6oL SBUILL(HETENeT. Splp6emed D& 6ulb
NMIHH2 61  WFBW Tweb 9hho 2 lpeibamer b sumemen 6B _6uenLP 6. QILIHLOUIT6YILD
MBI U FTISHHBEHL Qeualamasd el wefsSmbseny. Almost all the candidates
attempted this question.100 yeTeflmaieo 40 yeellseT @QeNG @BISIUULQHHSHIL 6T,
GILILsssH6me  UFLFTfHH®6T  Geumplagioner  ene]  UeTeidmenuyd QUMb SHe).
eteueuToTuisnid, @GPHUdLemey uflsrjsHser 1.8, 1.9, 1.12, 1.17 wpmw 1.20 g dw
ARITEHEHHGH SHoupmer el semen  auERIEUNHHHETT. ellaTdser QHTLIUTET  DieUSHTENLILEET
&6 syuul_(Hetener:marks out of 100 have been allocated and considerable number of candidates
obtained successful marks. However, it was also noted that considerable number of candidates have
provided incorrect answers for question number 1.8, 1.9, 1.12, 1.17 and 1.20. The observations
regarding the questions are as follows:



1.8

1.9

1.12

1.17

1.20

Baw Gry Ouriss Silusie] (Wenmenwulsd UBIBEHaETCHTT umm  Seueierm
alealulpbsal. aTH mITHeTeumpG HORIFmEBT WiglpFal Utk wFaene _alwbeaen &6
aUMb HBHWL 66N b Y&Lperen @BHEUIL [H B G6 (6TH6VETTEUTH . GILI(H LDLIT 6VIT 60T
uflarisdeen “ombuy miolEems mEld” eaim Fflume eflemLs@Gl udeons oy
Coivsvry mFlunpd” eaeip elemLenws Osfle QFuiHmpbseny. Most of the candidates had
marked Employees’ Provident Fund as the answer instead of the correct answer “Employees’
Trust Fund”.

sousl @almms  FEmlmaIlusNGS Comeaunm Spalemismss Osfle)  GFuiubLig
Beuaieimalled  GalaslulLg. eeaeurpruiaid, sHsemeuren ufl FTisHsen  Ffluimes
AeDLWITeS  “BLBS yewiigel BB Fmpmssen” aaiusN@Gl udeons “FBlE emioLiL)
alglserr” eigiuenssd OFfle OCFuiRmbseny.The question required to select the document
which is not required for the incorporation of a company. However, most of the candidates
have selected “The Article of Association” instead of the correct answer “Last year’s Financial
Statements”.

uenWmIBSEILLL QuTaid swuel e 2 WIhasULF URIGSTTTHMT eTeuiamisems S0
NG aemugj &mu_lrrsm FaDOOT SV60FH HEUMTE OO 6l allateulIL’ RHHSHH. RHHSH
gapm “Sauprasts’ @mh Curdaibn, iFHseneurer uflsTishdser “FfluTeng” e
@O 19 mBSHey.It was required to state “Maximum number of shareholders of a Public
Limited Company is 50” is True or False. Though, this statement is “False” most of the
candidates have mentioned it as “True”.

“BlewevCumirer GLpsd” ei@UBRT HHHMS aluflbGurm @mE CalslulLg. BFH @
yHw  eTemienmiba(h — SLHe0Te0,  QuEplbuTeuTesl  UFLFTiSHsenTe0  @Hm@G — Fflwimen
alenLulenen el  (wealsbenev.lt was required to explain the meaning of “Sustainable
Environment”. As this is a new concept, majority of the candidates were unable to write a
correct answer for this.

&18gmensy Qe Brewi(h Fmisenend GOUAGWLTN @EiE CalslulLgl. iHsemeurer
ufl_grysdser FaMIBEHBGL ugleons, HTCFTEm6L Q@endledt Sy emennds
@M mbsey.It was required to state 2 elements of a cheque. Instead of elements, most
of the candidates have stated parties of a cheque.

Bhs elamssamens Haly, GQubuTeTer UFL FTiSHE6T genanwl alaTbsEhdEE HEIMTE alenL
SlSHmHIHaT. Bhasl uGHoEsTar ELBHOWLTSHHEF QFweoTHmens HpUHagwmaig.Except for
these questions, most of the candidates have performed well for other questions. Overall
performance for this part was satisfactory.

U(g;é! B
alenr @ev. 02SECTION B

Question No. 02

@hasl ugdh 4 slLmw aemesmend OCaTewlghbeEl. @aQauTm elamas@Gl  seom 10

yeeflseT qaidbaluliymbser.This section consisted of 4 compulsory questions. Each question was

allocated 10 marks.



Bhs oleain  “ouanfizssGs Cxmeurar  ysgeysF  BCFameusernr”  QpTLIuTem  eleTeuTs
MBI HHSHSH. The question was based on the area of “Supporting Services required for
Businesses”.

(a) uvewmsder OsTPDuThaeT ufl fesiulLer. ebeneubest  eaulh &2 _suempler  |1p®
SIPOBE.QUEBLDUTID  FoH0  Uflamjsdaend @bzl uGd (d) Bme Cauppsywrs
alenL WelsHBHSIHILGT  ASHGSFW  wpapll  yeimeileememuyd  QuommhoHery.  gemerGuimy
v e  CsTODHUTHBERSGU udeors usmiysemen  allufisHmbseny.  Almost all the
candidates answered this Part (a) successfully and obtained full marks and others had explained
characteristics of money instead of functions.

(b) @mE asruyndHs GCasmiurhGaser upmw e UFLASSOULLG.  6YBeTeUBET  6UTH
wOwmLBaLB 1060 ‘FmOo_alLben  1ps  MQemyFwle k.QupbuTTer UL FTTSHs6iT
@gmas  gflursl yfihg — Csrewigméselsvenev.  Slaufseflled  Heoy  amlymids
Bariur(haeEnd@l udeoors, sTiymd o Lauydms @amlsd FhHub Syulearfser ump
aluflsHmbaeay. g @M Vsaw QeoGeutear olamaurs  Qdbs  Gurdeiw, Fso
ufl gnjsdlsenmed srlymiFsd Gasmiurhosenensd Fflunss GOHIL  qpweilsvened. Most of
the candidates had not understood the term. Some of them had explained parties involved in
an Insurance agreement instead of principles of insurance. Though, this was a very simple
guestion, some candidates were unable to state the principles of insurance correctly.

(c) euemilas moeueid @eEMnEG sTOYGUIET (WesHwdgeud upiwu sple] uflHesiulLg).
AL G555 o6 uflgnjsdHset  opujer  sTUYNIAHUIET  BIEOIDEMET  OTHATLD
aluflsHmbSHILST  QuEpbuTsoTe U FTisSsen  allendsomer  aluflliyseneT  6UPBIGTLOED
alLwmismen  ISATD G LSHmmed Gmmbhs Uelefsamen' QuomMmhbsar]. SLenyd
GonsHe0, oamPujseilar CFopeoaisaTar  gnurh, euemiasHeT LT euFHoHemen
BuwupGssed Bumey mEeatenwser uny SeufseiLd elfliiiyefe sTewliuLafsvensv.Tested
the knowledge about the importance of Insurance for a Business Organization. Considerable
number of candidates had only explained the benefit of Life Insurance and most of the
candidates had not explained in detail and only stated in point form and earned lower marks.
They were unaware of the benefit of minimizing risk, provision of welfare of employees,
enhancement of credit facilities of business, etc.

afeormr @evQuestion No. 03

@mE, aBGwrs anfupenmeseT LHMID 2 _svdenTalW  umIEF @GO  Spdlwet  upmiul
uflanysdHseier osmensull ufl fles adjurfssiulLgllt was expected to test the candidates’
knowledge about Distribution Channels and Global business environment.

(@) weopwmp alxsHH0 (WsTemw QG MFCWTs aubflwenm e LNyHgneomisemern
@MidGwuy  GslslulLgllt was required to state the disadvantages of an improperly
managed distribution channel.



(b)

()

Quqpbumeomest  LfL FTiSHH6T  FHRIBEHOLW  QuTgh Siflemeuds OCameawih @FHNHEG olenL
316MH S HHSH6] . SIGUT 61160 SIHBLOT GOT6L ] H 61T 60 wlieTeflsenerud Gum
wbdHmbsa.Majority of the candidates had written answers by using their general
knowledge. Most of them were able to obtain full marks.

@pbsl uGdH, FHobs AFCWTE (Wememy @almms e CFUIWDLBUTE  Beusiddled
Qameten Geouemiigul HTTERIEMET SQLILMHLWITHD OCBTEUIL Gl 6YTenem TUIFed MUIET 19 UIGITH60T
e 6umh sSwWe aupFen eup Kh 2 POmmeaIhFher MTHG eMBLB2 6uenbu W L6
aemeneugFemigrauemp o muE@BL.QuEpbuTeorer  ufl FTisdEeT  SEIGEHMLW  QUTG
sflmeuds Oameni(h FWOUBSLOD elenLsemen elpHUNBHBSHILET Fflwmer el wBIGemen
eTIpGHIUHD  Bouenid OQFIHHATN0m6v. eTaueummTuiand, GOUUILSHEH5  slemienilsbamauilsomen
uflanisdHser @l yerelleemerud OGQupmimbserny. Majority of the candidates had not
written answers to the point and they have given vague answers to this part with their general
knowledge. However, considerable number of candidates have got full marks.

alelsOTan i GFupuTHEmen gt 2 svsenmalw  FHulsd alflurdss  Geouewi(HLd
eTetugl upPw sifley @mig ufl fbsiul L gl Queburemst ufl srisdaet alufliiyseiend
STTEIRIGM6T  UPEIAUNBHSHT. BBHTO UFLFTISHBNTO  BhHI UGHBGFW 1ol
yemefasememud GQum (pipwelsdensv. dev uflaTisdesald 2 svdenmalul eueniesF (@ lp60
OHTLILI6O slalalg elamienid &HhHEHSHIGHEHD STavILLale0ensd. Seufsen GeumioGer Lgw
FhMSHBEHHBTET LUTeNd HmedHmagl een wrsHrw  Godlymbseny. Tested the knowledge
as to why a business needs to expand its operations globally. Most of candidates had given
reasons without explaining. Therefore, the candidates were failed to obtain full marks for this
part. It was also noted that some candidates had no idea regarding global business environment
and they have just mentioned only the fact that it opens up avenues to new markets.

ereusurpruienid, Gumuy elemmealssTear @LBHOWLTSHF GFwemHmemns HHUHBTOTS QHHSHIL 6T,
QU(HLDUIT6VT6BT ufLFmjSHB6mTed AU SyLoment S61T6Y yeteflsenemujd Qum
whHmbsa.However overall performance of the above question is satisfactory and most of the
candidates were able to obtain satisfactory marks.

alerm @evQuestion No. 04

(a)

(b)

@Aeualenmelsst epevld GOpmbeopwimduwmemieno umpPlu siflemen uf fAbs aHTuUTTSSILL L F).
Oamfled wmfwmeny @euflet UsmIysmends  (GHMUAGLUY GslsUulLg. GQUHLUTEILD
g0 ufLanisHsEpDd QT  (wwpHwmeny  @heuflel  USRIYBEMET  SIEHLWITEILD
BT (HHBHSHILT (PPl YeTeiaemenuyd Qupmlpbsery.It was expected to test knowledge of
entrepreneurship from this question. It was required to state characteristics of an
entrepreneur. Almost all the candidates had identified the characteristics of an entrepreneur
and obtained full marks.

siFseneuten  UfLFTisHHEe1  Revmenasuler  QUTHTTSTISING OCHTEOIPWIMSWITETenLD
geil  (IPHAWITRIH  6ITUSHDBTET  STJewmIEmeT  Ufibsl meusHmHbhHeny. pulenid
SMyenImIBmeN alenod@Gomm alemmalsd BGal slulighhd CUTHMILD DieUTHeT al6THHEIHm 6N
QIDBIBTG STTIBIEMmeNS Fflwnss GO RHBHETT. @HeT  alemenauTs  D6UTH6MT60
BluGHEE @absiulL Wl Yetalemenuw Gup wwmon Curuilmbss. Most of the
candidates had understood the reasons as to why entrepreneurship is important to Sri Lankan
economy and they have mentioned reasons correctly without giving explanations, though it was
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required to explain the reasons. Due to that they were unable to obtain the full marks
allocated.

ereueurpruienid, Gmuy elermeassTar U HOwLTHHF GFwemmmemns HHUASBTOTE SHHSHIL 60T
aFseneurenr  ufFTiSHsenTe0  HpUuHBroter  Sene]  Yetefldemenl  QUDSSnIQUISTEHED
Ambsal.However overall performance of the above question is satisfactory and most of the
candidates were able to obtain satisfactory marks.

afeormr  @evQuestion No. 05

GLD60 LTFMLAMSS HHUUSDBTE BLAIGHMBDH6N, elemiasHer BT LSTIfH6T, SMEsS @emed
Wa&mIOaT(HHBUUGBLD FauTeoseT GUTSIMENa 2 6l L euemiadF @0 QHTLIND ufl FTisHs
soflet ofemeuls uf déss GEIG eHjuriessiulLgl. It was expected to test the knowledge of the
candidates regarding Business Environment including actions to prevent environment pollution,
stakeholders of a business, challenges faced by SMEs. Etc.

(d) syiulL eleugewisHer  BILLSTIFSOT upPw  sfewen @UuGEH UL ASHHHBSHI
SFseneuTenr  UFLFTISHDB6T BT LSTITSMNF FHLTE Denibisani(h, @6UaleITa|SaIT e
wwlu yereflsemenu Quoplmbsery. This part tested the knowledge of stakeholders of the
given scenario. Most of the candidates had correctly identified the stakeholders and obtained
full marks for this question.

(b) o wWiBeus emeusHwFTensw @eaiplen QFWMHUTLRTCUTH G0 WTFMLMMSS HHULUBGSDGS
(hSBLILULHInQUl L AIQSHMBHMET SlglILHL WTHS OHTRILHTE @UUEGS  STeIiiul LGl
GMIILS558 eavienilbanasulleonst UflgTisdeer SIUUlL  aleuFausmsd OHTLIYUUGSHS
AeaualamayseHs Filuns alenL welsH(hebsale0ensy. LT, EUTHET GOV LOTFMHL UMD
shlusnstear  QuTHeuTET  BLalSmBHMmeN GO LSBT0  1paplt  YeTeflsemenud
aufsenmed Gum weilsoensv. This part was based on the actions that can be taken to
prevent Environmental Pollution when operating an Ayurvedic Hospital. Considerable number
of candidates had not answered this question properly relating the given scenario. But, they
have mentioned general actions to prevent environmental pollution and were not able to
obtain full marks.

(c) @pBsi uvued @eomemauleien SMEs @Qermed (PaEICBTHSSILUBL —FeuTeoseT  UMPIL
ufL A mHSH. Tenen gl eUBETEUBT 6UTH 2 TUILLBOUBET HUIL BT 1960 (61HDLHI6T
mG @EpFem HwObw.siFsemeurenr UFLgTisHEet SMEs QsmLjumes elwmumy sipleneug
OsTLIYUGSSTH SEISEHmLW Qurg siflmal uweauGsHSH ol eSS HBSHET. 2 iy
aufl eaigmBisemen alFeHHe0, umIEUIYL UDDOTHGMM, JTFTEIGSHHST DBHT6Y (GDDEUTH
BHmSH0, ATFwed FHlemevento  Gumeriy v FOUBSLMD  AIMLBEHD  DIEUBTENHDL
ul(peteniest.  Most of the candidates have given answers by using their general knowledge
without referring to business knowledge relating to SMEs. Some irrelevant answers were also
observed such as imposing high tax rates/ lack of contribution/ lack of support by the
government/ political situation etc.

Beuaileimoysstan U (HOTssF OCFwemmmemas Hwudsyors Sevensv.Overall performance for
this question was not that satisfactory.

uGHSECTION C

alerr @evQuestion No. 06



Bz aeyupssiu L BSUired swuell OSTLFuTer ellul  Sulenel  JQLILIEDL WTHS  GCETeniL
alemaur@. @by  olamaled, SIUULL  elellsld  OsTLIUTen  SeuddTelisd  aufHHHLD,
Curs@eurdaml  mpitd ERP gpevpsno  gpdlwenr uBpsiw  siflemeuls  ufl flds  e1alTUMTSSUILLL SI.
QUEBLLITEID SiewenSHEHIll LIl FTisHHoenhd eleleamelsd allenl WelHAHbHIHIL T 6T H6IM6e0  LIsOT
HMUBBTIOTRT Siene)] LisiTemMasemenulld GuBpsmbsHeny. This was a case-study based question relating
to Refresh Ltd. and from this question, it was expected to examine the knowledge of E-commerce /
Transportation and ERP system relating to the given business. As we observed almost all the
candidates have attempted this question and most of them had obtained satisfactory marks for this.

(a) sriu’L swuell oHET  umllEd  BLOYHMBEHEHHEG: ~RVSHHTENWD  UTHHHHMBLI
uweTuGSSHID  auleuemasmen  elufld@omrm @miE  CaslsiulLg.  QuEBbuTeTes
uflanysHser  PlFed swuefwme®d vwSTUGSSIUGL  ReuSHTEIWEd  UTSHHHHMSB
AWHUIBHHENT, pBTD FHM  DeufEer OFeieurs  alufleHmosaisoemsv. er6arGel,
Saujseiled LsOTTed (ol Uetefldememud Qup (puialeoame. Seujseied Heof ealemeneud
Fflwure  ellenmids  OameTenTdl  auewiled  HMIGUETEIGAT  LDOHMID  6UTIQSHENSWITENTTH 6N
BHAUHBSL BVSHTANLD UTHBHHLD PV HeNL SHHHIN DWFn6VEIH6NT / 6UwID DB 6LF
Baemeumer Gumeiim alemLsenen SiefdbHmbHSHey. It was required to explain ways by which
the given company uses E-commerce to its business operations. Majority of candidates had
written E-commerce uses by Refresh Ltd., but they have not explained it clearly. Therefore,
most of them were not able to obtain full marks. But some of them had not understood the
question properly and they have given answers such as business support services/advantages
from E-commerce to both business organizations and customers.

(b) elemengdmenmen Gurs@GHaursa (WPempenw QFHTLIUTEr SPlensull uFLAusng Seueierm
(peod  GFTUTTSSIULL FI. GOIUTH, elmaisSmenTer BuUTHGaTHSH (PMMENLD  @evtylest
oo 1 piyed swuald@G@s FMLEHBEmMIQU  DIEIFa6OBIBMET  SIEHLITENE  SHTEDILDTD)
Galasiu'Lgl. @I Gsdseme ufl FTisdHsst Fflumer  almLemw  Sefbgl, (WL
yemefasememujd Qumpmbsey.lt was expected from this question to test the knowledge of an
efficient transportation system. It was specifically required to identify advantages available to
Refresh Ltd. through an efficient transportation system. Considerable number of candidates
had given correct answers and were able to obtain full marks.

(c) @euailemm HApbs GursGoursal (Wempeno el seatmwasT umdll  ufl fsSHEHBHSSI.
SiFseneunes  uflgrisHsen  Fflwmenr efewL  eNGHmHBBSHILST  (papll  Yeitefldemenud
Qupnmbsery.The question tested the qualities of a good transportation system. Most of the
candidates had written correct answers and were able to obtain full marks.

(d) @psi ugd sra uvwuSUGSSHUMSDS STLYNID STEFTMEVSHET  LWSTLBHSHSLUILIH6SH6T
SDIFneEIEeT  upmls  CaLymbagl.  GOUILGSEEeMey  uflsTisdHsenmed (oL
yeeilsememuyd Qup (pubIpbsal. Feoo uflgnjsdHsel @By ealassshhd @ HLED6UDHSE
BGuoev LSew1(HLD UPBISUI (B HSHIL 60T SIGUT SH6YIT60 (Ll yeireflsenemu|id Gum
wrweaisvensv.This part was based on advantages of using cheques than using cash.
Considerable number of candidates had obtained full marks. Some of the candidates had
repeated the same explanation more than once for this part and were not able to obtain full
marks.



(e)

@hal ugd fPired swuelwmed LWSTUGSSUULSFPW BeoshdHreiued QHTLFUTL 6D
uppw  siMlemeuls LFLHGAMBBEI. DHBeneunenr LFLFTTHHEET SFUULL  eleuTenisendd
sMHSID  Osmetenmgl, Hwg  Cursh sPlemeull uweTUGSSH  allenL Wl S HHSH6].
ealauTOTUIILD  Seufsenmed  RQUUGHDBBTe  (papll  YeTeflsmenuyd  QUDEFHIQUISTS
@mba&I.This part tested the knowledge on Electronic Communications that could be used by
Refresh Ltd. Most of the students had given answers by using their general knowledge without
considering the scenario. However, they were also able to obtain full marks.

(1)

(2)

(3)

(4)
(5)

(6)

(7)

(8)

alenngsrenent QupmgId, elewLweflds QLINLSHEG WL IHaieTen  SIemISHH0BMeN &S

SHOUIOTD UTHBHALD.

ggfl 1 evmsmalenmed OGeuefulLiu’t &w &SHMed UTLUYGSSWD (WPl UTLSHHL L HmSHUD

o eenL s Fphs euflaTiguns @EUUSTEO HMT 2 WFHSULFD LWTLHSHSHIBISEN.

eleTeneus SHeuanonsd eurdhgl, eleameled CalslulLsm@ LrsHTWw el wellssab. @
Cmypwimest mHumId  Flevedlwiomest aflenl  erHFuUTTSSUILGLEUTH BCHemeuwidm 6l6NSHHHISEMETUILD

eleurmisemenud 61(ps GouemiLmLD.
alenL wefled@Curg GBy (psTem WS (PSHEUILDTEIST GLD.

AUMTOIVSHEIBIBEBLOIFIQW  QFwed  alemenFgmed  Qaeuemeu  Blyed  alavmHBTEHL 63T
BememsslUL (heTengl. Crpresd Gsngmenen alamaser (0TQs) saljbs @aiGeuTm alammeald @b
alemanFQgTeomend OCamauighedngl. ufl gmTisHset QFwed almaFeaTe OCFalemneal BlFaled
SrOulL alenenFOFmed susnyalevdbsamsSen iglinemLulsd alenLweflsse0 Gousmi(hLd.

AL SHBHTeNHM6NS MBWENIUSNG (LPevTen], el SeVbBMISEHD 2 _MIBEHMLW G O ewiamid

Fflwns stpsLL(BeTensT sievill UflFelbsalLb.

alemaaTalCBWw  alenLamen 61(pd GeuswiLmd. elemLsenen  alewLlUSH555H60 LOTHHTEL
61(10&IH60 Beusmi(hLd.

BLES BTV BITSHSToTHEHHEG almLWellbHIl LUPGHMSHST (LP6OD 2 _MBISEMTED UTL  SipieneuuLd

alenL QuIpgIb pmmeneou]d BbUBHHS QBTeTen (LPIQU|LD.



(9)

(10)

(11)

aMemen GoenplubsHHs CamerusnsTs emuemnwulsd Qeausfloubs Fehdmaser, oG (haEer,

QFIHGHHTOTHET OHMID UTLL LsHSHsmismentl uweiubsHs Csmesmeyl.
uflenguied GxmevalwenL WEHdn(BLD 6ISUSTED 616HS5 ealamenaud m&sall (WPwmHbs GeuewrLmb.

fops swrfBlmeouLaib uflenguled fAsHuemLdain Spsbdnigul aTHTUTTUILL@ID UL engd @
W&EIOBT(HHBHLD.

General points to be considered in developing the level of understanding of candidates:

(1)

(2)

(3)

(4)

(5)

(6)

(7)
(8)

(9)

(10)

(11)

When you get the question paper, read the instructions on the paper carefully before start

answering the question paper.

Get the maximum use of Self-Study Text published by AAT Sri Lanka because it is the best guideline
covering the entire syllabus.

Read the question carefully and answer only what is asked in the question. Do not write

unnecessary explanations and details. A direct and an accurate answer is expected for the question.
When you answer, time management is very important.

Action verb Check List with definitions is attached to the question paper itself and each question
will begin with an action verb excluding Objective Test Questions (OTQs). Candidates should answer
the questions based on the definition of the verb given in the Action Verb Check List.

Before handing over the answer script, check whether the question numbers and your index

number have been written correctly.
Do not write answers in the question paper itself and write the answers in the answer script.

By answering past question papers, you can improve the subject knowledge as well as the ability of
writing skills.

Make use of recently published magazines, hand books, newspapers and text books to update the
knowledge.

Never try to give up any questions as this habit may lead to fail the exam.

Face the examination with a good preparation and with the utmost hope of passing the

examination.



